U-12TRM HEZ*

HH 202245 21 H (+)

= SR ATZ G

Zhn AR THF LT U-12 - 11, FCE U-12 - 11, EEAFU-12 - 11, 0% U-12 - 11
U9 I=a—rRYHALEF—2L

Rl : 11 : 00 A%, 16 : 0 0:1R%

fHatbd (15 7R}

Aza—t B=a—*t U9=a—+t (I==—1)
@ 11:40~ OUE U-12 — | BT U-12 7THFLT U-12 — | RPEHFU-12 —
@ 12:20~ 0OUE U-11 — | EH5U-11 7HL T U-11 — | RPEHFU-11 —
® 13:00~ THL T U-12 — | ES7U-12 OUE U-12 — | kPSR U-12 —
@ 13:40~ 7H¥L 7 U-11 — | 1B U-11 0UE U-11 — | RPEFU-11 —
® 14:20~ THL T U-12 — | OUE U-12 [E77 U-12 — | EPE4F U-12 —
® 15:00~ 7H#L 7 U-11 — | 0UE U-11 B/ U-11 — | kPSR U-11 —




